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1. BEEHOR

(1) B E U
OERBEERE 5,611,000 5,611,000 0
QZmMEeE 12,120,000 12,040,000 80,000
Q%ZmAaEE 288,000 3,311,000 -3,023,000
@EZINE 45,389,000 54,035,000 -8,646,000
OZMEMESE 64,415,000 11,600,000 52,815,000
®H XA 12,000 12,000 0
EEUNEEET (A) 127,835,000 86,609,000 41,226,000
Q)BREER 0
OBXEXH 0
&% E R 3,302,000 3,146,000 156,000
HE 21,075,000 20,056,000 1,019,000
FREEVES 18,035,000 7,096,200 10,938,800
BREA T E B 709,000 254,000 455,000
EHELEE 8,502,000 5,183,000 3,319,000
REXEE 5,014,000 3,531,500 1,482,500
BIEERE 1,698,500 1,473,000 225,500
R {E RN E 810,000 810,000 0
HEMASRERE 120,000 353,000 -233,000
HERE 3,978,000 1,468,300 2,509,700
BiEE 50,000 120,000 -70,000
FNRI| S A& 10,599,000 10,230,000 369,000
ey S 367,000 40,000 327,000
KESNERE 1,515,000 1,742,000 -227,000
EEH 7,415,500 4,400,000 3,015,500
R 379,000 198,000 181,000
mEE 1,766,000 928,000 838,000
HERNEFRE 1,945,000 767,000 1,178,000
i=Ei=k 1,481,000 1,956,000 -475,000
Bk & 450,000 400,000 50,000
wEE 16,250,000 250,000 16,000,000
XIFNE 0 0 0
RXE 17,879,000 14,484,000 3,395,000
E=t-; 1,253,000 1,159,000 94,000
TAE 3,650,000 7,800,000 -4,150,000
e 104,000 217,000 -113,000
QEBEE 0
% B M 367,000 350,000 17,000
HBHEFH 294,000 380,000 -86,000
FRREVNES 0 0 0
BREAHE R 16,000 16,000 0
EIEEE 180,000 178,000 2,000
REXBE 24,000 24,000 0
BIEERE 68,000 90,000 -22,000
AT {E AN & 34,000 34,000 0




SN LEE AIEE # R
HEMASRERE 0 28,000 -28,000
HERE 250,000 263,000 -13,000
BiEE 0 0 0
R &K E 60,000 60,000 0
R & 5,000 60,000 -55,000
KEREE 6,000 9,000 -3,000
SiCES 277,000 385,000 -108,000
REEF 3,000 13,000 -10,000
wEE 0 0 0
HERAERE 197,000 1,197,000 -1,000,000
=Ei=kod 66,000 66,000 0
B & 0 0 0
W 0 0 0
XiLE A E 0 0 0
ZitE 1,155,000 903,000 252,000
E=t 88,000 118,000 -30,000
WE 204,000 208,000 -4,000
BEEERB) 131,641,000 92,444,000 39,197,000
TR S AT L S A 0 0
HEABETMELESE 0 0
BEEEMERSE 0 0
BRERMIESTMIERSE 0 0
FMmE R EST 0 0 0
L HRRR E IR EEE (A-B)=(C) -3,806,000 -5,835,000 2,029,000
2. BEINERDER
(1) BEESINEE 0 0 0
BENIEET (D) 0 0 0
(2)BRENER 0 0 0
BEENERE(E) 0 0 0
L AR E SV 1R ZE (D-E)=(F) 0 0 0
hEEHREEE (G) 0 0 0
L HA— AR IE LR BA EE 1R EE (C+F+G)=(H) -3,806,000 -5,835,000 2,029,000
— AR IERBIEHIEES (D 20,323,000 26,954,000 -6,631,000
— AR IERRBAEERAR 5% S (H+1D)=(J) 16,517,000 21,119,000 -4,602,000
0 $57FIERKELEEISIR DER 0
OZHHEB£ 0 0 0
Q—HRIERBAE~DIREEE 0 0 0
L HA$E T 1IE K BA EE 1S HEE (K) 0 0 0
IEEIERMERERS (L) 387,125,000 387,125,000 0
BT IERRBA EEEA R TR = (K+L)=(M) 387,125,000 387,125,000 0
I ERBESHRES )+ M) 403,642,000 408,244,000 -4,602,000




